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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions:
I. This question paper consists of' 5 questions.
2. Answer ALL the questions.

3. Number the answers correctly according to the numbering system used in this question
paper.

4. Clearly show ALL calculations, diagrams, graphs, et cetera, which you have used in
determining the answers.

Answers only will NOT necessarily be awarded full marks.

h

6. You may use an approved scientific calculator (non-programmable and non-graphical),
unless stated otherwise.

7. If necessary, round off answers to TWO decimal places, unless stated otherwise.
8. Diagrams are NOT necessarily drawn to scale.

9. Write neatly and legibly.
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GRADI: 11

QUESTION 1

A0 w), B(O:3), C(4;0)and D(10 ; 8) are the vertices of a quadrilateral in the

Cartesian plane. AD is parallel to BC.

Copyright Reserved

A0

D(10:8)

C(4:0)

[.1.1  Calculate the gradient of CD.

I.1.2 Hence, determine the angle of inclination of CD.

Prove that B(:“D = 00",

.3.1  Write down the gradient of AD.

1.3.2  Hence, or otherwise, calculate the value of 1w

Ifitis given that w=15=, calculate the length of AD.

to | —

Calculate the area of quadrilateral ABCD.
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QUESTION 2

A, B(1:2), C(-2:p)and D(5:0)are the vertices of a KITE.
M is the point of intersection of the diagonals of the kite.
ADB=45".

W
v

C(-2:p)
2l Determine the coordinates of M. (4)
2.2 Calculate the value of p. (6)
2.3 If p=-9,determine the equation of AC. (5)
2.4 Determine the angle of inclination of AD. (3)
2.5 Determine the coordinates of” A. (6)

[26]
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QUESTION 3
5.1 If tan& =i and e [()0”;3()()“] . determine the value of 2sin8.cos @ without the

use of a calculator, (#)
3.2 Simplily without the use of a calculator:

sin (360” - .\") + COS (‘)()“ + _\')

3. : .
sm(l 80" —.\‘)+ tan 540° (5)
30 N0 0 1 a0 l
3.2.2 COSJJO.tan(~120 )+sm ok o —m— (6)
cos197"
[15]
QUESTION 4
. _ sinxy —cosy) —1 o
4.1 The identity ( \. ,u \) =2tanx 1s given.
sin” x -1
4.1.1  Prove the identity. (5)
4.1.2  For which values of v in the interval 0" = x = 360" will the identity in
4.1.1 not be delined? (3)
42  Solve for v if t811(3,\‘+4(_)“)= —1 and _\‘E[J)()”;()(J”]. (5)
4.3 Determine the general solution of 2sinx=+3+3cosx. (8)
121]
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QUESTION 5

5.1 The sketch represents the graphs of )‘(\) = aCOS(_\'+h) and g(.\‘) =csiny for

XE {— 1801 8(}“} ;

‘_1'
2
, /
X
0 45° 90° 1358
=
g
-2
5.0.1 0 Write down the values of «, » and ¢. (3)
5.1.2  1If the points of intersection of / and g are (44,64“:;’() and (171:—0.51),
write down the values of & and m. (4)
5.1.3  For which values ol x 1n the interval [—] 80“:()“] will
(a) .f\(.\‘)—g(.\‘)<0‘.’ (2)
(b) _f'(.\').g(_\‘)z 02 (2)
5.1.4  Determine the minimum value of A(x) if /i(x) = flx) + 2. (2)
Tl
5.2.1  Draw a sketch graph of m(‘\‘) =tan 2x for x& [()“;90"’] ; (3)
522 Describe how the graph m has to be transformed to form the graph »n
where g (\) =tan (2.\' + 50”) . (2)
[18]
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